AP CALCULUS BC

’ m € CollegeBoard

APCachC-Homewoeruiz-#4

)

(50

1. . Ify = arctan(cos z), then % =
—sing .
@ 1+-cos?z -
(B) —(arcsec(cos ac))2 sin

(C) (arcsec(cos z))?
1

D) Tarccosa’+1

®) Treot

U-s u=x>

2. /w2 cos(w3)dm = ' 4& Ea
(a) —%sin(2®) +C i{« et
®) Lsin(z¥) + C Xy =5 A
©) —%sin(mS) +C '
@ ZLsin(z®) +C

(E) %sm( )+C

}l f Ce{éa.) éﬂ/

é;,m y -C

X% =2t

: a:3v——2a:2+3:v—4 L ﬁ
3. Hm —‘4:”3_3,,,24_21,_1' - 67@

r—>0o0
(A) 4
B) 1
1/4
D) 0
E -1

U ¥ 2 e

4.  The third-degree Taylor polynomial about x = 0 of In(1 - x) is
b el e 1oix) ¢ e

®B) 1l—z+ %

© z-L+% £ = Anli=2) —f’*[a} - £n(.) 5 .,

L e Al AR T

B -z+%5-% £ = l\ %)CQ) —(00) - = N w(ly T ER
5 Ify— x then%y— — h«,){)z, [ {@"'X) §
2 -~ ~Al-)
'é ::v‘“fé)ﬁ) ‘v"‘_ 149 m—[ I? (w‘ ){) l) [l )() ‘F /
’ =L

mu#f/a/u%ﬂew o ey =

= Mé—?y C}f»"f@ﬁ

Test Booklet

AP Calculus BC

Page 1 of 7




. jﬁ 4&% _ %{i %ujy\?{{{} - ﬁﬂ : Test Booklet
APCalcBC-HomeworkQuiz-#4 X M7 X xz |
(A)
(B)
(C) Inz—1

22

® 3

L
T
L
22

6. f A pizza, heated to a temperature of 350 degrees F ahrenheit (°F) is taken out of an oven and placed ina (7 5°F)
room at time ¢ = 0 minutes. The temperature of the pizza is changing at a rate of -1 10¢704 degrees Fahrenheit per
minute. To the nearest degree, what is the temperature of the pizza at time ¢ = 5 minutes?
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(D) 238°F 122 215°
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The function fis continuous on the closed interval (2, 13] and has values as shown in the table above. Using the

13
intervals [2,3] , [3, 5], [5, 8] , and [8, 13] what is the approximation of f(z)dz obtained from a left
‘ ) —
Riemann sum? . D/;;__Wl XY WLZ‘,‘J NS e '
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What is the area enclosed by the curves y = x> — 8x%+18x — Sand y=x +5?
(A) 10.667 ’

A”"/ } [(X3»X)‘7q—l5)("3')":‘ (B"\T)’)/ﬁ)a S
l
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© 14583 T g - +
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() 32 L 4 '
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10. The top of a 25-foot ladder is sliding down a vertical wall at a constant rate of 3 feet per minute. When the top of
the ladder is 7 feet from the ground, what is the rate of change of the distance between the bottom of the ladder and

the wall? Tryr ot
P X<L ¥y = Ay
(A) —% feet per minute %,7 4 Ay
(B) —-L feet ; ‘ I\ ‘ Zx% +%d "
3 per minute a () o
7 . o

(C) 7 feet per minute : % = 4x 7 2,,( ‘7‘1) 2‘—{){, + Z("'}') ("5) =

@ % feet per minute (;m) e Ax v 3
. N 2 =12 - 4y
(E) % feet per minute //ﬁ"ﬁ&l -2 w’b‘:‘g} ar” & ! /mh

11.  The length of the path described by the parametric equations £ = cos®tand y = sindt,for 0 <t < % is given
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12. Which of the following series diverge? /
SrM?-s ~ 24 i </
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(A) Ul only
(B) Tand Il only
(C) TIandIIl only

(B 11 and 111 only

(E) 1,11, and III

13. The region R in the first quadrant is enclosed by the lines x=0 and y=5 and the graph of y = 2% + 1. The volume of

- the solid generated when R is revolved about the y-axis is ,3.7
y 2,
® R TR
( ) 811 - d
(C) 34nu/3 fﬁ ﬂ'e{f% ! ) J
) 1l6m & S (yoiMy =T (297,

E) 54

® suns =Tl
14. A curve is described by the parametric equations x = 2 +2tandy = £ + 2. An equation of the line tangent to the (
curve at the point determined by #=1 is

(A) 2¢-3y=0 ) s CX,j (3/ z)
(B) 4x-5y=2 | d {ﬁ‘mg nx2H = ‘
(C)_4x-y=10 W\ CA)}Q@ DA t2 ]
5x-4y=1 {&=1)
(BE) 5x-y=13

ly~-2)= %(X"’BJ
Yy - = 5y—I5
Sx—My=F
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The graph of a function fis shown above. At which value of x is f continuous, but not differentiable?
A) a
B) b
: © ¢
, D) 4
(E) e
T /°° & b .
—_—dx is = 2 %
e e
1 .
A) —3
/s j
@% SR zfzwia&) Mwa , »
®) 3 - | '
z e YT T
(E) divergent
' T
17. Ify = cos’ 3x, then dy/dx= o = ( s (2}
, -6 sin 3x cos 3x gj@ {zw fzﬁ@ﬁ {%%)g ( W,% Af L XD
(B) -2cos3x
(C) 2cos3x PR A ﬁM(?%§£ﬂ$ @’ X 3
(D) 6cos3x
" (E) 2sin3xcos3x
18. A rectangular area is to be enclosed by a wall on one side and fencing on the other three sides. If 18 meters of
fencing are used, what is the maximum area that can be enclosed?
N
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C) 27m?
D). 40 m? i Yy 20 {
() )& m? Atz 18- g 9 y= 8% D=
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9. 3 o= &
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Graph of f' ).
— The graph of f’, the derivative of the function fis shown above. On which of the following intervals is /
. b4
C dereming? whaa $'62 (p,2) v (4,6)
(A) [2,4] only
(B) [3,5]only
() [0,1]and[3, 5]
(D) [2,4]and[6,7] o
C@ [0, 2] and [4, 6] @«\m’éj shokd be pen :%&M@
20. @ The velocity vector of a particle moving in the xy-plane has components given by %% = sin (t2) and
dy _ geost Attime ¢ = 4, the position of the particle is (2, 1). What is the y-coordinate of the position vector at
dt
time ¢t =3? b east
Q(é 0.410 § e at= yln—y
> .
0.590 . v
P MAIIEe = 55)
(C) 0.851 ! b=y
21, [xe**dx= g%jy ﬂ!ﬁ,fﬁrj ! oamA & %&ﬁzﬁ?ﬁ ' Wy = wg vl
s S ARTREED b 5 3 (;7.(’, A
@ xe?/2 — /4 +C ;%%; ol }wﬁg W xS b o elx
) xe2X/2 — e¥*/2 + C gf«%’& = V%%@Z% S BE “‘l’“@z%ﬂﬁ“ﬁ
(€) xeP2+eP/4+C "8G M -
7 2Ky 4 o2X '
* (D) xe”*2+e“2+C
() x%e4+C
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22.  What is the general solution to the differential equation % = m——s—(——) fory >07? &9 A 1{
, . z R S T
W y=1/EmE) +C / S
y=zVsinls S A st
— ./ Lain(x? : N
= 4/ $sin(z?) + C o
y 4 ( ) o V‘?i ‘3" s (%) C-
© y=4sin(z?) +C
(D) y Ce—sm( z?) ‘
23. Let f be a differentiable function such that f'(x) > 1forall z. If @ < b, which of the following statements could
be false? ,
—_ /
@ L > A
®) f(b) > f(a) Ame
| T
There is a value ¢ in the open interval (a, b) such that fle) =0. [H’l) LS ’Hé) m‘%ﬂb{ ﬁ é&ngw Fhpeen
(D) There is a value ¢ in the open interval (a, b) such that f(c) = f—(‘})—;—fﬁ’—)-. 7.'m'm44ed
L =~ ‘b TV.T
24, AT L& 1) '
B The Taylor series for In x, centered at x=1,1is Z (_1)n+1 E—;ll— Let fbe the function given by the sum of the
“ n=1 .
™ first three nonzero terms of this serles The maximum value of llna: — f(z)| for 0.3 <z < 1.7is o
— n=t =2 n=3 =y ‘AL ) = jﬂx YL e
(A) 0.030 ((x_.,‘) J. (X"')z' # L cx__')zz - ﬂ/x_ﬂ")q . ] l)‘ _l Y
(B)_ 0.039 e & , | o p= x L
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i n 0%
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(B) 0529 . ‘p S Y ! . -
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25. For what value of k, if any, will y = ke~ + 4 cos (3:1:) be a solution to the dlfferentlal equatlon '
y' 4 9y = 26e” % 9 / s T alfe an abbisedds 50 emor showd “/("fj”fx"”
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(D) There is no such value of k. - Y bl (z;.* > ,,),3 o
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24 2 - X
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